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Topic:- Child Development & Pedagogy (CDP)

is associated with retardation in various aspects of development / e &
ﬁf"ua ugqell § Hear 9 931 81
1. Medium Intelligence / ACIH gﬁg"
2. No Intelligence / GO T}[fa' Tl
3. Higher Intelligence / 3Td q@’
4. Lower Intelligence / 3G gfa'
Correct Answer :-

. Lower Intelligence / Fg gﬁ

2) In child centred education, what the child has to learn should be / STel-hfga e &, a3
1 S drger TifeT, a8 fAFgan e aifye:

1. Judged through activities /ITfafafaat & aTeTawT @
2. Judged by the scores of their test results/3<Tch GJ&TT URUTAT & 3pi &

3. Judged according to the ability, interest, capacity and previous experience of the child /d<=d &1

TG, 3, &7AdT R Sl AT & IHFER

4. Judged according to the previous experience of the child /I=d & UG 3JHAd G AR

Correct Answer :-

« Judged according to the ability, interest, capacity and previous experience of the child /d=d &r

1T, 2, &TAT 3R U 3gHa & AR

3) Child centred education typically involves: / el Hfgd e & 3mdA ak W FFT anfAer

B’IFIT %’:
1. on the spot assessments/ﬂi?f a7 Hih W ZFLF?:I'IEF[



2. no Assessments/a"ﬂg EFJC/ZI'IEFH el

3. more summative assessments/37T%eh JTcHD d-‘Lvé-liChc-l

4. more formative assessments /3119 TTATCHD HedThed

Correct Answer :-

« more formative assessments /37T TTATHD d-jyﬁidno—l

4) Which of the following are features of progressive education? / &=ifaf@a & & sia-dt
yerfarefier fvam &t faQdwame g2

1. Instructions based solely on prescribed text books /faéer paa AaiRa arod gﬁ?ﬁf T
IR eI &l

2. Flexibility on the topics that the student would like to learn/3a7 Wl W FFadr
(FeifFafaferdt) s o @ aed ¥

3. Emphasis on lifelong learning and social skills/Sfiae Gded fQereT 3R Amenfaie wlerer o
SR &=

4. Emphasis on scoring good marks in examinations /U131 H 3T 3 ofld W IR Tl

Correct Answer :-

« Emphasis on lifelong learning and social skills/STiael Tded A9 3R ARAISIE Pl T
SR &l

5) Performance intelligence is measured by: / gl gﬂ;ﬁ' o e & GART AT SITdT .
1. Verbal Ability/ FIT&® 7T

2. Comprehension / HAST

3. Numerical Ability / H&ITcHD &THT

4, Picture Arrangement / IBERZCE

Correct Answer :-

« Picture Arrangement / /T cIaeT

6) "A thing can be learnt by the study of it as a totality" This statement is based on which
learning theory / "U& HfST Y THAAAT F T H WS JCIIT ¥ WWT T T §1" Tg
Fya frw fRraror Rguia v smafa @



1. Instrumental conditioning / SEEHC hBIRATAI
2. Insight Classical conditioning/ Fae® RRufaBa Uldheldd (3T8TSC FATT ™D HSIATAIT)

3. Trial and Error/ W-gﬁ' ey

4. Classical Conditioning/ FRUfafBa U] gele (FATT AR HSIRATM)

Correct Answer :-

« Classical Conditioning/ IBECIGIES] Ul Reled (FATT AT HoIRATIM)

7) The word ‘consistency’ is associated with: / e “WHATY” AW FafAd &
1. Personality / <dfthcd

2. Attitude / HATGRT

3. Intelligence / g@

4. Motivation / OROTI

Correct Answer :-

« Personality / dfthcd

8) The prejudice against a person on the basis of sex of that person is ./ & Ifda &
foer & 3R W, 39 wafFd & R@ae q@eE (v879) giar gl

1. Gender stereotype / ofaleh Fleagdr (SisX TEIRAEET)
2. Gender bias / off3Tp ASHTT (SisT A15319)

3. Gender identity / CILCR EEIG R EL 3-]'[?3%@[ )

4. Gender issue / oifolh el (&ES e EAD)

Correct Answer :-

« Gender bias / offf1p Feda (ST d15379)

9) The smallest bone i.e. stapes in the human body is in the ear. [ATIG WR H Fa& BIA
g3l i ¥ & & gt §1
1. Inner / 3eX

2. Middle / S &



3. None of these / 3AH & IS &l

4. External / g

Correct Answer :-

« Middle /7 & &

10) The last stage of psychosocial development is / ANATATTS® AT @1 3ifaw =or § -
1. Identity v/s. Confusion / Ugdld ddTH HHA

2. Trust v/s. Mistrust / fJa8ma aama 3ifasama

3. Generativity v/s. Stagnation / 3¢RdTl JATH SeXId
4. Integrity v/s. Despair / 37@sdT dATH AT

Correct Answer :-

« Integrity v/s. Despair / 37@adT a1 A1

11) The study of same children over a period of time is known as study. / Teh
fuiRa aa9 f 9 F v o= T=at & sreaga HEIIT F T A ST
ST R

1. Longitudinal / 37J¢d (dfeaNcgsael)

2. Cross-sectional / UTAfACATcHD (hIT TRl

3. Latitudinal / 37870 (SIcggeren)
4. Experimental / 9T foTeh

Correct Answer :-

« Longitudinal / 3{SEY (S=aNcgged)

12) Which of the following is a limitation of Eclectic counselling approach? / AFafaf@a qa
Fla-H agorelier WAL TReHIvr (sFafFes FEafar o) i Har &2

1. requires highly skilled counselors to handle the dynamic feature of this counselling approach / 38
WA AT H T ATeAD AAVAT B FAIRAT e & AT 31cafd Hrre
TRTANCGTAT3T Pl ITaRIHAT Bl B

2. more flexible approach of counselling / WA &1 37D gi%r%naazﬁ HECINI



3. more cost effective & practical approach / 3cafdd YHTA 3R I@eRe TiB®OT

4. more objective & coordinated approach of counselling / WA & 31¥F 87 3R Fgaafeaqa
HEEaL

Correct Answer :-

« requires highly skilled counselors to handle the dynamic feature of this counselling approach / 38
WA AT H T ATeAD AATAT B AT e & T 31cTfRd HreT
TRTANCGTAT3T T ITaRIHAT Bl B

13) Which of the following is the best way the teacher can guide children with special needs in

school education? / fAFafaf@a & ¥ #la-ur afier ¢ Bwd F Raw ﬁa:ﬂﬁl'!ﬁ fram &
fay smaegwart are gal 1 ANGYT FT THS {2

1. Give higher challenging tasks / 37fQ® g?m-ﬁ'{lff P ST
2. Give more tests / 3779 UJ&TOT AT
3. Providing support and tips / &AT 3R g&d et

4. Provide more homework /31T dj_eqvléfl Ucled hcl

Correct Answer :-

« Providing support and tips / I&ITaT 3R gsd |

14) Which of the following is an example of a lower order need in Maslow’ hierarchy of needs? /

famafaf@a & @ wla a1 At A raIFART F 9GEFA A AETaH FA A
T SHAT FT TF 3EEI0T 82

1. Esteem needs / TFATT I AT ITT
2. Self-actualization needs / 3TTcH-Y T ITITRATT
3. Safety needs / GI&IT P HTTIRATT

4. Love and belongingness needs / TIR Td HUAUA Pl HTGIBATT

Correct Answer :-

« Safety needs / gI&I hI ITARIDATT

15) Which among the following types of intelligence would be most used when trying to navigate

through traffic? / AFafaf@a & & fFa yR A B F1 3030, I@RT F AeTw F
Afadie FA AT FRNT F@ T fmar seem



1. Naturalistic intelligence / m gﬁs’

2. Spatial intelligence / TATAH Eﬂ?’
3. Interpersonal intelligence / AT Thed gﬁs\’

4. Emotional intelligence / #HTIATcHD @

Correct Answer :-

« Spatial intelligence / TATTA® g@'

16) A child receives a star for every correct answer she gets. What reinforcement schedule is

being used? / TF Tt A & WA 3N & v wF TR FAaar 31 fFw gedaor segh
&1 39AnT R a7 @ 8

1. Variable ratio reinforcement schedule / TRddeT AJurd g%élaﬁzm HW
2. Intermittent reinforcement schedule / HTART®H ﬁ?aWT T
3. Partial reinforcement schedule / 37fh ﬁ%élaﬁwl HW

4. Fixed ratio reinforcement schedule / fAf&ra 3gurd Qﬂ_%élaﬁlul 3-]@'\11??[

Correct Answer :-

17) One of the characteristic features of a Constructivist unit of study is that: / 37egdeT i TH
TATCHSRAIEIG SHhIE 61 THh {dvar a8 & &

1. It starts with what children know as an effective departure point for the lessons. /S&ehT [B3ATA
SEY Bl & 6 a=a urs & fou veh gwrdr geAre fog & & A Sed 2

2. Tests and assignments are aimed only at assessing the lower order thinking skills. / STTa (SEC) 3R

faa e (3EAsT) T 3T dhad e TAT AT PRI FI 3Theld HIAT &idl &l

3. It is propagated solely through teacher instruction. /IJg C[UTHZ et & A6 & ATH |
TR R ST ¥

4. Asking questions is discouraged in the learning process. / W TSl 37T9TeT &1 gfehar A
EdlcaTfed dT B

Correct Answer :-

« It starts with what children know as an effective departure point for the lessons. /S&ehr LB3ATA
SEY Bl & 6 a=a urs & fou v Tl qeAre g & & A Sed



18) Reading skills can be best developed by: / T&sT ®IRIel Y $H UTHAT GART HIH =B
T fasfd fFar s aFar &

1. Writing answers / 3o fer@er

2. Playing word games /doing quizzes / g8 AA Welel / foFast &

3. Focusing on the use of words in the text / OIS H QTeg] & YA W AT higd T
4. Doing vocabulary exercises / A<GIdell H¥FITH AT

Correct Answer :-

« Focusing on the use of words in the text / UTS 3 QUeql & 3UANT W AT dhigd el

19) Irrespective of the kind of impairment, all children are capable of: / ey gHR 6
ARG F FTaoE, T T e F warH A §:

1. Movement / Telel
2. Hearing / '{F—FT
3. Learning / ¥r@a
4. Seeing / cua

Correct Answer :-

« Learning / §1@a

20) What are inborn patterns of behavior that are biologically determined also called? /

AR F SeHaTd deet St Na-faer F yqar Auia g &, 378 I ot Fer a1 &
1.1d / ugaTd
2. Drives / gISd

3. Instincts / Heol AT

4. Intelligence / gi@iﬂal

Correct Answer :-

o Instincts / Heol JAl



What are the symptoms of Post- traumatic stress disorder in children? [aeat A qg-HTETT
dde {AFR (AT gAfes Feu BU3Ey) & Jafor a1 §2

1. Avoiding places or people associated with the event./ Tl & Tg@ TAET T AN F JI=T|

2. Having to think about or say something over and over. / dR-dR $S head IT 3Hb dRX H

|
3. Not have an interest in other people at all. / Q\HI‘I A W T & gl
4. Becoming annoyed with others./ qgul q AR |

Correct Answer :-

« Avoiding places or people associated with the event./ "l a %@; TATAT T AT § AT

22) What type of theory is one that proposes that development depends on things that are
inherited through genes? / & THR &1 m}-ﬂ? g JEd HICAT t & e 39 9iet W
fT #tar § N e & Aegw @ JAnE §?

1. A deterministic theory / T faafdarg fagrd
2. A social theory / Th HATSIh AgTd
3. A nature theory / Tch Cl'l?ﬁﬁl'cﬁ Rrgid

4. A nurture theory / Udh UTell-UIyoT g

Correct Answer :-

A nature theory / Udh CI'I?{?%EF RgTd

23) What type of thinking is associated with creativity? / & 4R &1 Raa gorarefierar &
Hafed giar 82

1. Convergent thinking / 3fRIRT AT

2. Divergent thinking / 3TeldT @I

3. Insightful thinking /3{dEf® & (3Aa@cPa fAfHT)

4. Transductive thinking / URATIF T (SrHsfdFea TAfHT)

Correct Answer :-

. Divergent thinking / 3TcldT @I



24) Who introduced the theory of Universal Grammar in language development?/ HT9T fa&r
# gfaadea AR F Aguia # fFFea 9 Fm

1. Piaget / OISR

2. Vygotsky / dATSIMNcaehr
3. Skinner / TEheX

4. Chomsky / TfFahT

Correct Answer :-

« Chomsky / eI

25) Intelligence is a product of both and environment./ i;l_;aﬁﬂ'ﬂT, sk
TATEROT gl FT UF 31 ¢

1. Culture / FEPHTA
2. Community / HETA
3. Heredity/ 31T T_Uehell

4. Society / HATST

Correct Answer :-

« Heredity/ 3TTeJdiRrehdT

26) The Minnesota Paper Form Board test is a test which measures one’s

_ ) eaer 99T wrd @1 qdieior, v qdaror g Y A H . Fr AMWar B
1. Verbal Reasoning/ #lf & dd

2. Aptitude/ JIIAT

3. Personality/ e fhca

4. English Skills / 373 apierer

Correct Answer :-

« Aptitude/ JNTIT

27) A student is asked to find different methods to evaluate the value of pi. This would mainly
involve which of the following operations? / Te ST &I GI31TS & AT HI ﬂﬂTﬁ' I & foT



faffe=r yorreh 1 7ira F F AT FgT A1 8| 59H AT ™ F AAfaf@a & & Fle @
TR enfAer gem?

1. Evaluation /EELFCIW

2. Convergent thinking / 3TTRART ideT
3. Divergent thinking / 3709 Ria=

4. Learning / 31Ta13T

Correct Answer :-

« Divergent thinking / 3T98RY [”Rid=r

28) Classical conditioning was developed by: / FaTf@®d FHeareraer (Rufafsa
Yeldhae AT A eqaee) foaeer F & frwd qanr sl e 8

1. Bandura /ET'U§1T
2. Pavlov / OTdelid
3. Kohler/a"ﬂ'e‘-?lT
4. Piaget / IR

Correct Answer :-

« Pavlov / UTdelta

29) Selecting specific stimuli through sensation is a characteristic of: / AT & HIgH I
fafRry IEu= &1 987 FA o1 Sfaer @

1. Attention / IdYT
2. Critical thinking / 3Te<T fideT
3. Concept / 3TdYROM

4. Perception /g

Correct Answer :-
« Perception / aTY

30) Animism is the belief that everything that exists has some kind of consciousness. Which of the
following does not describe the idea of Animism in children at the pre-operational stage of



development? / TdTcaTg Ig fayrT g fh ot $© i Hivg 8 SUH fell ysR @t 9a1 81
ﬁaﬁ?aﬁﬁwﬁm%ujmmwwaiﬁﬁm%ﬁawmmﬁﬁ
Al 8?2

1. A child who hurts his leg while colliding against a chair will happily smack the ‘naughty chair’./
Teh dedl St Ueh Pal & T §U 30 W Al e ggdrr & Gl & RRA ol o
Uehol I |

2. A child dresses up as “fireman’ for a fancy-dress competition / tHll 38 gfaaifaar & fow e
T BRRAT & § A IR BT &

3. A high mountain will be thought of as ‘old’/ T 5 Tdd &I QAT HIAT AT

4. A car which won’t start will be described as being “tired’ or ‘ill’/ Teh BR Fa A& el fopar
ST 38 'hT §IHT AT 'NAR IAAT ST |

Correct Answer :-

« A child dresses up as ‘fireman’ for a fancy-dress competition / e 38 gfaAfar & fov v
I BRRAF & FT # IR BT &l

Topic:- General Hindi (L1GH)

1) ‘A& MIF F I A¥ 7R FaX FT qry Al
qE AT FeI FAN Hiad §§ At

Ig ATT AR FT BT HE §

a1 3H s

a1 Yo gea W@ HA aren gy F S Reder
qET MAF HT IR H

q§ A9 I Aerar mar & grEhe Frer @

ATF 9 R H AfeaT a=l & Forer A

@Y T e &

IT 9N N FEH F AR

TS AT § HEHAT §I TF Ieeq A

a9 HIaER & TU B Fe @ ¥

ST AT 8 ATT AAF F1 NS FeT ;T WA
A 3¥ I Rarar @ 3w q99T

o9 98 AfafEar ar

dREcadF & Iq B 9rdT & 3HHT TAT



YO WY BISCAT g ICATE IFA el gIAT

3raTel & @ ST o FAar gan

st AET AAF F TG quTar

FEI ¥ TAT AT § HIGHR T Fa

wefl-weft @g o & & qaT ¥ 3WH WY

g 99 & v T a8 srdar 7€ ¥

3k 77 & AT @ T o wwar

AT ST G T[T

3R @ mare H S oF REF e gas & 7

IT YA TAT FY FAT A I A S P ¥

39 Rperar a@t

FHHT ATSIAT AT AT A

T a1 gz Fr qgER AT qF I q G FT 3ca] qAqBTI
yea: YO WY BT g e 3T T §IT, FW IR H FlT-W1 g AL §?

2) AET ThF & T A AR T FT q A<
qE AT FeI FAR Hiac §§ At

Ig ATT IS FT BT HE §

1 3HF R

a1 Yoo FaH HE@ I qrer T F F$ Nedar
qET MAF $T IR A

a§ A9 I FAemar mar & g wer @

IEF 9 FeR A Ffed ael & e 7

@ g gl ¥

T 39 & WA F ATHHT



wm%mgaﬂwm#

qq WIAER & TS T FHIS EaT ¢

ST AT 81 AT AAF F1 NS FeT ;T WA
S 38 I feTaT g1 3w quIe

S gg AfafEEr ar

dREcHE # F9 do AT § IHHT AT

YO Y BISCAT g ICATE ¥ el gIAT

AT & @ ST o ARar gan

a3t AET AAF F e quTT

FE @ ToT AT § WIAHPR HT TR

Fei-welt g A & & Aar ¥ WS WY

Ig 9a= & v F a7 e aE1 &

3t 77 5 R @ oI a1 wehar @

WET%?TTF’T

3R 3w smare # A vF Raw W gars A @

T I TG T FAT F 3o A ST PR §

39 Rperar a@t

3HA! AT FAST AT AR

T a1 gz F qgER AT qF I q G2 FT 3ca] qAqBCI
YeeT: 9% Yoo TeraY GRS qTeT qT FT FAT g WhT 87
1. P FINIPR

2. P RRAER

3. BIS HoATIHT

4. IS HATPR

Correct Answer :-

. ®5 NedER

3) AT TEF & AT AW H T FT @I &<
IE HTATS eI FAGR Hiach §§ o€

qE AT MAF F BT TS ¢

g1 39T fasy



a1 Yoo TaFT HES I3 qrer g F FS Redar
qET TMAF HT TR A

q¢ A9 3o FAamar mar & g Fer @

AF AT Ha¥ H FAfewd At F orer H

&Y T g ¢

T 39 & FOEH F AEHC

Tl ST § $EhaT §IT U IHeTee A

a9 WITHR & TIE T YT I@aT §

ST AT 8 ATT TAF F1 NE FeT ;T WA
AW 3W I Rarar @ 39 T

o9 98 A ar

dRETd® # 9 do AT § FHFT TAT

SO WY BISA §§ ITUTE I g gam
m#wﬁmgﬁfﬁwgan

aslt qET TAF F FEw FuTAT

FE @ TAT AT § WIAHPR HT TR

Fef-paft ag It & & qar ¥ 3w WY

g 9a ¥ AT @ ag srder adl ¥

3R 7§ & fe @ o o w@war @
AT ST FHT [T

3R 3N AT F A o REE @% gors & ¥
T HUS TR F AT T I8 AT ST FIAT |

39 fawear adt

3HHT FIIAT FHST AT AR

T 1T g Fr gEF AT qF T q GT FT 3ca] qAqBTI
gee: TR FT A0 §C TE S FASAT § HET TIF HT NS FeT gIM..... ?
1. "1AT

2. gRoTH

3. HFATA

4. TR

Correct Answer :-



4) AET TAF F T A HY Fa T Y el
qE AT FeI FAGAR Hiac §§ ot

qE AT MAF F BT TS 8

a1 3qFT sy

a1 Yoo TaFT HES I3 T g F FS Reder
qET TMAF HT IR A

q¢ A9 3o FAamar mar & g Fer @

AF AT Ha¥ H Ffewd aEt F orer H

@Y T e §

T 39 & FEH F AEHC

Tl ST § $Ehal §IT U IHeTeq A

a9 WIAHR & TS T YT I@aT §

ST AT 81 ATT TAF F1 NE FeT ;T WA
AW 3W I Rarar @ 37 q99T

o9 98 AfafEar ar

dRETd® # 9 do AT § FHFT Tl

SO WY BISA §§ ITUTE I g gam
m#wﬁmgﬁfﬁwgan

aslt qET TAF F FEW ST

FE A TAT AT § HIAHFR HT TR

Fefl-woft ag of @ & a1 § 3WET WA

g ga & AT @ ag srder adl ¥

3R 7§ & fe @ o o E@war @
AT ST FHT [T

3R 3N AT # A o RES @% gors & ¥
T YA FR F AT T 3o A ST FIAT |

39 fawear adt

3HHT FIIAT FHST AT AR

T 1T gz Fr gEF AT qF T a G FT 3ca] qAqBTI



YeT: AT AIF H FIT SUTAT FIAFR Fel § Tl AT 82
1. TSt
2. BUS
3. el

4. THATA

Correct Answer :-

5) HET A™F F AT N H{ T F1 WY A
qE AT HeI FAN Hiadr g€ oA

qF HAET TAF F BT 7S ¢

ar 3qFT sy

a1 Yo gaa WEe A aren g F AE Reder
qET MAF $T IR H

a§ IOt Ao FAerar I ¢ urhe Fwe &

ATF 9 HaX H AfewT a=l & rer A

@ g @ §

I A @ FEH B AR
wm%mganwmﬁ

9 WIAFER & TAE F TS @ &

ST AT & AT TAF F N FeT §IT WA
A 3@ IIE RaTar & sHF FUI

S g AT ar

ARECAF # F9 o AT § IHPT AT

RO WY SISl §§ ScAlE AT §ar gam

AT & @ ST o AREr gam

asft AET AAF F TG quTar

FE A TAT AT § FIAAPR FT TR

Foll-weft aF o & & &A1 ¥ 3WET WY

g 99 & v T a5 srdar 7@ ¥

3R 77 F R @ 9 o @war @



AT ST T AT

3R 3R AT # ) wF RES @® gos & ¥

AT A FGT FI FAT A 356 T AT FAA F

38 Rdverdr gt

FHHT FFSAAT FAST AT A

T 7T ggier Fr ggH AR @ I aTS WA FT 3ca} IAB0I

Yool HET AAF Y IS H q§ 39l AT Fa § Aamar smar g2
1. Ui e &

2. ACTDIT A

3. YfAF BT &
4, FARNE I YEATT &

Correct Answer :-

o Ui BTl A

6) ATT IMTF & G oG AR FA FT WY et
qE JHTaTS HeI FASN Hiadr §§ oAt

Ig ATT IR FT BT HE §

a1 3qFT sy

a1 Yoo gea W@ HA aren g # S Reder
qET MAF HT IR H

q¢ A9 I Aerar mar & g Frer @

AAF 9 R H Afea a=l & Forer A

@Y T e &

I IS & A B ATEST

wm%mgmwm#

a9 HIaER & TUE B T @ ¥

ST AT 81 AT TAF F1 NS FeT ;T WA
¥ 30 I1g Rarar g 3w THgeT

o9 98 i@ ar

dREcd® & Id S8 oerdT & 3HHT Tl

mea‘lsa"rﬁmmamgaﬂ



AT & @ SHT o AREr gan

st AET AAF F TG quTar

FE ¥ TAT AT § HIGHR T Fa

Foft-weft a7 af & & a1 § 39w WY

Ig 9a & v @ ag der a8 ¥

3t 77 fF R @ T o war
AT AT T I

HR 3HHY 3T A S o fowd @6 G &l §
IT YA TAT FY FAT A 56T A S P ¥

39 Rperar st

3UHT ATSIAT HAST AT AT

T a7 gz F qgER AT qF I q T FT 3ca] qAqBTI

YoT: AT TS HY FH AT F W IAHR A HGTS gq AT 87

1. AP
2. SqOY
3. UIH

4, I S AR

Correct Answer :-

. TS FF A

7) HET FF F G A AR T HT WY el
qE TS FeI FAAR Hiac §§ At

qF HET TIAF F BT 7S ¢

1 3qFT sy

a1 Yoo TaFT HES I3 AT g F FS RecdEr
qET TMAF HT IR A

a¢ A9t o Aarar ¢ urEhe Fwe &

IF AT Ha¥ 1 Ffew At & Forer H

@ g g ¥

1 9 & @A FoAEEC

mm%mgmwm#



a9 WIAHR & FAE F THS @ §

SHT FATAT @ AT TEF T NS FeT g FrAw
A 3¥ I Rarar @ 37 q99T

SI9 g AfafEar ar

dRETd® # 9 do AT § FHFT AT

SO WY BISA §§ IeTE I g gam

AT & @ ST o AREr gan

st AET AAF F TG quTT

FE @ TAT AT § WIAHPR HT TR

Fft-weft a7 ot & & &1 § 39T WY

Ig 9a & v & ag rder 787 &

3R 77 & f6e @ o o w@war
AT ST FHT [T

3R 3EH AT A St vF REF @ goAs &< ¥
T YA FGR F FAT A 35 AT AT FIAU |

39 facerar adt

3HA! AT AT AT AR

T 1T eI Fr gEF AT qF TS q G FT 3ca] qABTI
TeT: HIAPR & ATLAA ¥ FY FH IF6R F AFad A H Fhd FT @ §?
1. 1Y I arelt P IR

2. A0 H TEA URSHHA A arel AT AR

3. #I FTeIhl T AN

4, gSTTe arell 1 IR

Correct Answer :-

o AU H T TRAHA o dTel hr AR

8) AT TNF F A AW 4N T FT Wy A
qE AT FeI FAGAR Hiac §§ ff

qF HET MAF F BT 7§ ¢

a1 3qFT sy

a1 Yo TaFT W@ 3T T g F FS Redar



qET TF HT TR H

a6 A9t Ao Aerar I ¢ urehe Fwe &

WF A Fa¥ F sAfed aet F sorer H

BT T Fe ¢

T 39 & A F AEHT

TAT AT § HEHAT §I T Ieeq A

a9 HAAFR & TATE FT FAT @l ¢

ST AT 8 AT TAF F1 NE FeT §IHT WA
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IF A Ha¥ 1 e At F Forer H

@ I @l ¥
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YO Y BISCAT g ICATE IFA el gIAT

AT & @ ST o ARar gan

a3t AET AAF F TG quTT

FE { TAT AT § WIAFR HT TR/

Fei-welt g A & & Aar ¥ WS WY

g 99 & v T a8 srdar 7@ ¥

3R 77 & f6T @ o o wwar @
AT ST FHT [T

AR FHHY AT A S o fowd @6 G & 7
T YA FGR F FAT A 35T T S FAA |

3@ fawerar agt

3HAN AT FASAT AT AR

T a1 gz F qgER AT qF I q G2 T FT 3ca] qAqBTI
WRA: AT AEF A I Afeer a=t 3T remdt # @ A1 § dF @IAHR HEHT FHIS @1 82



1. TR A

2. ddel Bl

3. WA B

4. A A
Correct Answer :-

o TIRA P

10) {ET AAF & I N A T FT qY At
IE HTATS eI FAGR Hivet g§ oA

qF HET MAF F BT 7 ¢

a1 3FFT sy

a1 Yo gad WEe A aren g F FS Reder
qET T+ H IR A

a§ IOt o FAerar I ¢ urhe Fwe &

AAF I HR A AR A=l F ST H

@Y T e §

T 39 & WA F AEHT

TAT AT § HEHAT §I T Ieeq A

a9 WIAHR & FA§ A TH @ §

ST AT 8 AT TAF F1 NF FET §IHT WA
A 3@ IE RaTar g 3HFT FHIS

S g AT ar

aREa® # 9 Yo e § IHHT T

YO WY SISl §§ IcAIE AT Gl gam

AT & T@ ST T FRar gam

aslt AET AAF F TG qUTAT

FE A TAT AT § FATPR FT TR

Ffl-w3t ag ot & § a1 § IEH WY

g 99 & v T a5 srdar 7@ ¥

3 77 & AT @ I o wFar @

AT ST G T[T



3t 3w AT A S vw REw W@ gerd adh §

I YA TR B FAT A IO A S PAT §

3% Rwerar agt

FHET ATSIAT FAST AT A

T a1 gz F qgFR AT qF I q T FT 3ca] qAqBCI

W M & GAT AT MhF FI A et 39 F Aemar 22
1. RN areeh

2. grafoe dreeh

3. A9l dleh

4 F

Correct Answer :-

11) {ET A & I N H T T q At
qE TS FeI FAGAR Hiad §§ ot

Ig ATT IR FT BT HE §

a1 3HF R

a1 Yoo gea W@ HA aren g # S Redar
HET MAF $T IR F

q§ A9 I FAemar mar & wrEher Frer @

AEAF 9 FeR A Ffed a=t & e 7

@ g gl ¥

AT IS & FEH B AR

wm%mgaﬂwm#

aq WIAER & TS T WIS a1 ¢

ST AT 8 ATT TAF F1 NS FeT ;T WA
S 3¥ I fReTaT g 3WHT qu

S gg AfafeEr ar

dRECa®H A 9 o AT § 3HHT el
mwmﬁmmm?n
AT & @ ST o AREr gan



a3t AET AAF F FEW quTT

FE F TAT AT § HIAHFR FT TR/

Feit-welt g A & & AT ¥ IHET WY

g 99 & v T a8 srdar 7€ ¥

3T 77 5 R @ oI a7 wehar §
AT ST FHT [T

3R 3w A # N vF RaF wE gars A @
T 9 FGR F FAT A 3o AT S FAA |

3@ Rwerar agt

3HA AT HAST AT AR

T v gz F qgER AT qF I q T FT 3ca} qAqBCI
veeT: AASF fREdH FAfed a=t # @ I §?
1. 31 &6

2. qES &

3. AT H

4. 37X T

Correct Answer :-

o HR W

12) AET IS & T A¥ 7R F&@X F1 @y A
qE AT FeI FAAR Hiac §§

qF AT MAF F BT TS ¢

a1 3qFT sy

a1 Yoo gea fEs J aen g 7 A Redar
qET ThF HT IR H

q§ A9l I FAemar mar & g Fer @

IF AT Ha¥ F Ffed aet F orer H

&Y T e §

T 39 & FEH F AESC

TSl AT § $EhaT §IT U IHeTeE A

a9 WITHR & TIE FT YT T §



ST AT 8 ATT TAF F1 NE FeT ;T WA
A 3% I Rarar @ 37 T

o9 98 AfafEar ar

dREca® A 9 do 9T § IHHT AT

SO WY BISA §§ IeTE I g gam
m#wémgﬁsﬁwgan

aslt qET TIF F FEW FuTAr

FE A TAT AT § HIAHFR HT TR

Fef-Faft ag ot & & qar ¥ 3w WY

g ga & AT fF ag srder adl ¥

3R 7§ & f @ o o w@war @
AT ST FHT [T

3R 3N AT # A oF REE w% gos & ¥
T YA TR F AT T 3o A ST FIAT |

3@ fwerar a@gt

3HHT FIIAT FHST AT AR

T 1T eI Fr GEF AT qF T q GT FT 3ca] qABTI
weeT: Fl-FH a7 A § FA1 Ta & T T a1 § IAFT WY?
1. fF ag ot & amar §

2.1 ag e T &

3.1 a8 dee ¥

4T ae G A E

Correct Answer :-
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1t fraa TR B AFdl? T@A-¢@d 981 & qIGd Nd T O B T 3R UrHH 3T BT Ry € g1 Wl g



S{THTRT BT 9UiH Ha &, Yt o7 gl Fa €, STar=ra) &1 quiq o3 €1 W Fias &1 v Hf fpdt A forar @2
FIag § W ST PIs UG 1 HXdl, BIIS A IRK T 1T 3, HUS A &1 911d § | U IR W PIOS I,
Tz farelt ) sreat A8 e o sefifere Fius & o fansht &) wergyfa =8 8t g wa gurd B, fbg
TR & W At g0 & & Pas A $© $H Higd 781 31 Ugd a1 I8 {6 Fus I T g YR 31 TP &
T UR, TR Pt IaTdl UR AT IR W & P FUS! & I 59 99 Plas & 99 T UHg H3d § | daniy
@ Bt gt ° yeTe gU gt & avanl & forg 9 1 9gd Wi 81 wiel ad aug off afe 3ud Ftas o1, ey
W@m@mm,asﬁaﬁﬁqwﬁam@-@ﬁaﬁil R @, $Igs &1 ¥ ad &1 99 famrs
STaT 3|

I8 & P o7 Pls TEH ITP ¢HS 81 91 ¢, 79 d fbaq G fomd &1 e et & ofw 38 gpet o
WK ISl §, 79 WY §¢ TN o ERa Usd 81 7t fPAR diell o o9 wwaa iR fae-1 sias ga-u1 b
I E1T 3, 79 98 TX $O HH GEERA 71 51d1| §H PII$ BT Y8 UM $O TE 9 W SH W I 3R 377
Ble-g8 ueh 9ad §, a9 i TRGT M 3R i[eT iy T I71d uehug, Wed TR & IR Bl ¢RE R-g7 9F
3ifpd 3@ gt IR U BRaAT & 9 P 301 84 Bt 21 FFR o9 P Wer §@ o wHiF 319 81 Y, a9
T, 39 U8, U4, ¥, I 31 & Ughis 39 W Sifdhd gid § Sua! =T 3R 81 81 o fihe 99 € geua
1S Ut Wi I Fras &1 Ag HR AU & dsd & a9 7} fFIR sifera uehrg ok Wi & fagl 3 =t
AfPTHT P U T BT T 06T 81 39 $A a@ # e 8- Wik §iar 31 Fias q@1 8t dl 7 &
P a1 Riy & PR 3R 3o |/ 9 7 &) ot e v ug=An =anfgel

SR A 7T T B UgHR A YD T U BT I« Faqrs|
T: Pras S 81 ot b el & fpy ugem @nfew?

1. JHAT 3R By

2. 3T 3R IMerad

3. GG R Felefst

4. 3am 3R &y

Correct Answer :-

o 7T 3R Ay

22) 3TS1 Ya§ d 4 $O W ATHUS g1 UT| T B R T SR A ot Y1 39 fo=m & arer 1 7 ot wret
&1 B f3ar uT1 wig 9gd €1 WIS A Wy & fow ) wd gd fa=m & oiel ¢t i 7 718 81, a6l Sw fqwn #r-wve
1t fFam TR B GHdl? SWA-¢Ed 98l & dI6d 4d T 9 81 ¢ 3R gUTsHH o &1 3y g 81 i g9
STHTRT BT U B 8, Tt T quiF HRa §, TRl &1 quie Fa &1 W Pras &1 qui Hi fadt 3 fpar @2
Fras A W STAT $Is NS 81 Hdl, Pas A TR 7T 81d1 8, HUS AA g1 914 &1 37 IR W FAs 33,
Tz farelt ) sreat A8 e SR sHfifere P & o fansdt &) gergyfa =8t gt g wa aurd B, fhg
TR & W At g0 & & Dias A $© $H Higd 81 o1 Ugd a1 I8 [ F1us FT T g YR 31 TP &
TR WR, TR B! Slardl W 3Yar IR W & BIAG! FUS! F T 50 I Fs F 9 TN 78S I &1 SAnyy
RN Bt WSt H ysTe g gt & aranl & forg 98l 1 9gd Wi 81 wiel ad aug off afe 3ud Ftas o1, teny
ﬁaﬁ%miﬂmm,a‘taﬁaﬁaqwﬁﬁﬁﬂ@-@ﬁaﬁ%] W Y, Pras &1 A9 o & 99 frs
STeT 2

T8 F PR oId Pas JEPT ITP TP 8 9 8, a9 4 fPa Gex fema &1 Frer TRl @ o 38 gpst o
WK ISl §, 79 AT g TN I ERa usd §1 71t fpaR diellt ao o9 wwaa ok fae sias ua-wn e
§3MT T 8, 79 I8 TN PO HH G 61 8111 T PIas HT Y U $B @ o1 W 39 W A 3R 3=
Ble-a3 uel 9ad §, a9 &9 TRGT S 3R a1 Fie T 31 Ueug, Wed TR & IR B @R gR-g3 ab
3ifpd 3@ 3t IR YT BRET o T B 351 4 gt 21 FhR o9 P Wer g@ X o i 319 §) &Y, a9
M4, 384 U138, 34, ¥, I3 31¢ & TR 39 W Sifdrd g & Su@! 2T 3R €1 71 3R fibe &9 € dena
1S 3T A J Phas $i g Y AT H T4 & a9 71 frar sifra uefrg i Wi & fagl @ wrt



ARvEa F URAT I BT R 305 € 79 FEH o A R -39 wre g1 31 Fus I A A Tm F
IR 71 RiYg & AR 3R 399 | 9 1 81 o) WY Wura ug==n afgul

W A T TeEriRr B UgwR R OB ¢ R $T S«R garsu|
UT: IR fo=n w1 Y "t 42

1. T gl

2. 30 |

3. d&@

4. drgs UeT e

Correct Answer :-

23) TS YT Yd A $© WA ¥ 761 UTI TP A1 2iwr IR H ot i 39 famm 7 arer 1 7 @ wame
& I foam o1 Wy 959 € NS | Ty & g1 o ud fomn &t oet ot it T € 9, 987 S e v
1t fraq TR B APal? T@A-¢Wd 981 $ II6d 4d A 9 8 ¢ 3R gUrhH 3T &1 3y € 81 Tl gv
STHTR BT qUIF HI §, Jeft &1 gl Ha &, TA=mal &1 qufq Hd &1 W Fras 1 quiq Hof fedt 7 fFar g2
Fras A W STaT $IS Wig 781 Hdl, s I TR el FiaT1 ], FUS AA 8 91d &1 37 IR | Fas 83,
g frdt &) sreat A8t e oY sHfifere Fas & fo fasdt &) aergyfa =8t gt g wa aurd 3, fhg
T[T & A 1 g0 ¢W! ¥ Fras § $© o4 did 781 31 Ugd dt 95 & I TR Iga Yo 81| TP &
Tl WY, TR B iarel W 3uar TR IR & PAd $US! & 1T g0 9 Fias & S8 T 0 Bd & | Saryg
N Bt WSt A yeTe gU gt & avanl & forg g 1 9gd Wi 21 wiel A aug +ff afe 3ud Fas @1, ey
ﬁaﬁ%méﬂanm,ahﬁaﬁaqwﬁﬂﬁﬁﬂw-wﬁﬁﬁ%'l W Y, P HT 714 A € 99 e
STeT B

T F PR o9 Pios GEHR ISP ¢HS 81 94 7, a9 d fba- JYor fwa &1 wurer Rl | wia I gpsl &
WR TSl §, 99 YT T W o g usd g1 7t fpan dial a6 o9 waad iR e sias vo-ar bean
T EIT 3, 79 98 T TO $H GIUX T8} 811l §H PITS BT Y8 UN $© @ T W U W T 3R =7
Ble-g3 Ueh gad &, 9 o g S 3R S([aT fiY TH 39 Uehug, 7ed TR & IR $I e R-@¥ aF
3ifpd 3@ gl IR YT BRaAT & 9 B 301 4 Bt 21 bR o9 Frus Wer g@ o oiHiiF 319 81 g, a9
T, 89 U18, 44, ¥, I 31 & Uehis 39 W Sifdhd gid & @l =T 3R €1 81 oM fihe &9 < gema
13 Uit i | Fhas &) Ag R uw & dsd & 99 7} fFIR sifra uehrg ik Wi & gl =t
AR S WRAT I BT I S5 &1 6 $oH AW | foran 81-891 Wi ST 31 s @A S A T
IR 71 Riy & fFIR iR 399 | i =1 81 ot WY Wura uga=n el

SR & T TegiRr B ugHR R UD ¢ R $T I«R Farsu|
U= fag & T FE HR G- 8 A1 82

1. g

2. T@1-W91

3. 31 g

4. UTepfdes 9T

Correct Answer :-



24) 3T YT Yd A $B W v 61 UT| TP A 21 IR H ot i 39 famm 4 «rer 1 7 wame
€ e o ol Wiy 9ga & 9IS & wH ¥ w1 v gd fmm & wret ot it 7 7€ 8, 95 S fmm -
W fam TR FX IHd? T@A-3TA 981 & JIed 49 T A 8 ¢ R gUhH 9 31 3Ry & 8 i 7w
STHTR BT qUIF HI §, Joft &7 gl FRa &, Ta=mal &1 quf Fd &1 W Fras 1 quiq Hof fedt 7 fear g2
Frag ¥ W ST $IS WG Tl HXdl, BHas A IRK 7T T 3, FUS A 1 1A § 1 30 IR W PIS I,
g farsdt #) sreat A8 ran 3R gfifere Fus & R farsdt &) gergyfa a8 81t g wa gurd B, fbg
T[T & A a1 g0 ¢Wl P Pras § $© 4 Al 781 ¢1 Ugd df 95 & Fas &1 FT9gd Yo 81 TP &
T W, TR F} Sharel T 3yal IWR R F FIA dUS! & 1Y g0 99 Pias F S T 7Hg ad 8| S
@ Bt WSt B yeTe gU gt & avanl & forg 9 1 9gd Wi 21 wiel ad 9wy +ff afe 3ud Fas o1, ey
Bﬁﬁ%ﬁwéﬁmﬂ’fﬁmmﬁﬁm@-@ﬁﬁﬁ?l TR A, Bas 1AM aAd 81 99 frs
et 21

T8 & PR o9 Plas Y@ SUS ¢HS 8l 91 8, 79 3 fraa Yax fRwa | el Rl A oi@ S bl
WR TSl §, 99 YT T W o g usd g1 7t fpan dial a6 o wwad iR faean sias o-ar ben
3T EIT ¢, 99 98 T2 TS HH AT To! 61dT| $H HIds B I8 U $S Y@ o1 TR 36 W T 3R 37
Ble-g8 el ged §, a9 fiF TrgT ot ofR a1 e TR 3% Uehug, Tl TR & I 3} @R R-g7 95
3ifpd 3@ it IR AU BRaAT & 9 B 301 84 Bt 21 bR o9 Frus Wer §@ X oA 319 81 W, a9
T, 34 U1g, A4, 4g, I s1e & Uehug 39 W 3ifFrd gia § Suat 2T 3R £ 1 ok iR w9 &Y wenw
13 Ut i A Fras &) Ag R AU & dsd & a9 7} fFIR sifra uehrg ik Wi & gl I ar=t
ARPTHT F HRAT I BT T 06T 81 39 $A a9 § e g1-T91 Wiv §ian 31 Fias S@&1 8t df 7 &
e a1 Riy & fFaR 3R 3a= & qfca 71 Y <t e Eura uga=n anfgel

SR 3 T iR B ugwR R IR ¢ R $T Sk garse|
T: HRATT g5 BT T 38T Pl R g1 T | gl 62
1. Trerm o@

2. BEHA oG

3. A o

4. HERIA oG

Correct Answer :-

« HEH oG

25) 3T YoE Yd # $° W ¥ g1 4TI T P A 211 IwR | ot At 39 f=m d arer @1 7« wama
e T ol wig 9ga & NS | wHa ¥ g1 v gd femm & wret oft it 7 7€ 8, 95 s fmm -
1t fraq TR B APell? I@A-TWd 981 F IIGd 4d T 9 B ¢ 3R gUrhH T BT Y € g Wl gu
S{THTRT BT 9UiH Ha &, Gt o7 gl Fa €, STar=ra) &1 quiq o3d €1 W Fias &1 v Hf fpdt A frar @2
Frag § W ST PIs UG g1 Y], BIIS | IRK T 1T 3§, HUS A 81 911d § 1 U IR W PIOS I,
Tg farelt ) sreat A8 e o sefifere Flus & o fansht &) wergyfa =8 8t u e gurd B, fbg
TR & W At g0 & & Pas A $© FH Higd =81 31 Ugd a1 I8 {6 Fus FI T @A YR 31 TP &
T UR, TR Pt IaTdl IR 3Uar IR W & Pt FUS! & I 59 99 Plas & 99 T UHg H3d § | daniy
@ Bt WSt A yeTe gU gt & aranl & fore 9 1 9gd Wi 81 wiel ad aug off afe 3ud Ftas o1, teny
W@m@mm,asﬁaﬁﬁqwﬁam@-@ﬁaﬁil R @, PIgs &1 A ad &1 99 famrs
STeT 3



T8 & fFIR W9 Pas IR TP ¢HS 8l 91 8, a9  fbant Yor fewa &1 sarer Rt @ w9 I gt A
WR TSl §, 99 YT T W o g usd g1 7t fpan dial a6 o9 wwaa iR e sias vo-ar bean
I EIT 3, 79 98 T TO $H GIUX T8} 811l §H PITS BT Y8 UN $© @ T W 34 W T 3R =7
Ble-g3 Ueh gad §, 9 o ARG S 3R S[aT fiY TH 39 Uehug, 7ed TR & IR $I @vE R-@° aF
3ifpd 3@ 3t IR YT BRaAT & 9 B 301 4 Bt 21 FhR o9 Frus Wer §@ X o 319 81 g, a9
M, 89 U13, 44, ¥, I 31 & Uehis 36 W Sifdrd gid & @l =T 3R €1 81 oM fibe &9 < gema
13 Uit i | Fras &) Ag R AU & dsd & 99 7} fFIR sifra uehrg ik Wi & gl I =t
AR S WRATT I BT I ST &1 6 $oH 4w | foran 81-891 Wi ST 31 s @A S A T
IR 71 Riyg & fFIR iR 399 I it =1 81 af WY Wura ug==n el

W 3 T TgiRr B UgHR R UB ¢ R $T I«R Farsu|
v FRfEal & uafe el & v A e Rwa g 2

1. gfayor T &

2. 76T &

3. 39Tl &b

4, ALY TIAAT &

Correct Answer :-

o HEY TRRT &

26) 3T YoE Yd A $© W ¥ 61 UTI TP A 2T IwR | ot i 39 famm d arer @1 7 wame
€ e e uT| wig 9ga & NS | v ¥ g1 v gd fmm & wret oft it 7 7€ 8, 95 s fmm -
1t fraq TRaR F AFdl? TTA-¢@d 981 & qIGd ¥d T O T T 3R UTHH 3T BT Ry € g1 Wl g
STHT BT U Hd §, Tl BT 9ol Hed §, A=l &1 quie Hd &1 W Dras &1 quie Hff foedt 7 fpar @2
Fras # W STET PIg UHG 81 Hedl, Bas A INR 7T 511 8, $US AW g1 1 § 1 30 IR W SIS S,
Tg frlft o1 sreat A @vrar ok iy tas & e folt ot wergyfa 1) gt | 9 wa aud 8, fbg

T | 11 df gH ¢@l f Fras d oo o4 Hied 151 ¢ | Uga dl 95 fb Fias ST W Igd R 2| [P &
T W, TR F} Sharel T 3yar IWR R F P pUs! & 1Y g0 99 Pis F S T 7Hg od | S
@ Bt WSt # yeTe gU gt & avanl & forg 9 1 9gd Wi 81 wiel ad aug off afe 3ud Ftas o1, ey
W@mﬁwm,aaﬁaﬁaqwﬁam@-@ﬁaﬁﬁl TR A, B 1AM aAd &) 99 frs
et 21

T8 & PR o7 PlIs TEH ITP ¢HS 81 91 ¢, a9 d fbaq G foma &1 e et & ofw I8 gpet A
@I TSl §, 99 @Y 5T W i g usd 71 741 frR diell 9 5ia Hae 3R e sias ue-a1 e
§3T BT ¢, 09 9¢ T2 $O P GAGR o1 81d1| TH H1ag BT Y§ UM O Y@ o1 W IH W TA 3R 37
Bie-a8 ueh 9ad §, a9 fiF TRgT M 3R i[eT iy TN I71d uchug, ued TR & IR Bl @RE R-g3 ab
3ifpd 3@ 3t IR SUAT PRaAT & 9 B 301 84 Bt 21 FhR o9 Frus Wer §@ o o 319 81 Y, a9
T, 99 UTS, W4, U, IHY 3N F Ughug 39 W Sifrd g1d & Sust =T ok €t 81 iR fe w9 &) wewva
1S 3t A | Fhas Fi g 2 AU A dsd § a9 7 frar sifra uefrg i Wi & fagl @ wrt
AfeTHa F HRAT I BT T 06T 81 39 $A a9 § e &1-891 Wik §iar 31 Fias S 8t dl 7 &
Y a1 Riy & fF1Y iR 30 @ 9% 7 8 &Y e @ ug=mn wiiRe

SR 3 T iRt Bl ygH Y U@ Y U= &1 Ik Iarsu|
UR: igs & forg ar 8} gidi?
1 el

2. HElgeid



3. &%
4. HET

Correct Answer :-

27) 3T YaE Yd # $© W ¥ 61 UT| TP A 211 IwR H ot At 39 famm 4§ arer 1 7 wame
€ e o ol wig 9ga & NS & wH ¥ w1 v gd fmm & wret ot it 7 7€ 8, 95 S fmm -
W fam TR FX IHd? T@A-3TA 981 & JIed 49 T I 81 T¢ 3R gUhH 39 31 3Ry & 8 i 7w
STHTR BT qUIF HI §, Joft &7 gl FRa &, TaRmal &1 quf Fd &1 W Fras 1 quiq Hof fedt 7 fFar g2
FIag § W ST $Is WG Tg1 HXdl, DS A IRK 7T T 3, FUS A g 1A § 1 30 IR W PIS I,
g faredt #) sreat A8 rar 3R gfifere Fus & R farsht &) gergyfa a8 81t g wa gurd B, fbg

e | 1 df g6 ¢@il f Fras d oo o1 Hied 51 o1 U ol 98 fs F1as &1 W Igd G o | [ &
T W, TR F} Sharel T 3yar IWR R F P pUS! & 1Y g0 99 Pias F S T 7Hg Hd 8| S
Eﬁﬁﬁu@ﬁmgqﬁ@%m%muﬁwa@m%luﬁz’raﬁwmuﬁwﬁmm TPy
aﬁﬁ%mwanm,aﬁaﬁaﬁaqmﬁaﬁhﬂgw g9 8l 9 &1 R &), PIIs &1 719 a4 8 v« frs
et 21

T8 & PR o9 Plas Y@ SUS ¢HS 8l 91 8, 79 3 fraa Yax fRwa | el Rl A oi@ S bl
WR TSl §, 99 YU T W o g usd g1 7t fan dial a6 o9 waad iR faean sias vo-ar ben
3T EIT ¢, 99 98 T2 TS HH AT To! 61dT| $H HIds B I8 U $S Y@ o1 TR 36 T T 3R 37
Ble-g8 el ged §, a9 fiF TrgT oMt o S[eT Y TR 3% Uehug, Ted TR & I 31 @RE gR-gX 95
3ifpd 3@ it IR U BRaAT & 9 B 301 84 Bt 21 bR o9 Frus Wer §@ X oA 319 81 Y, a9
T, 34 U1g, 49, 4g, I s1e F Uehug 39 W 3ifFrd gia § Suat =M 3R £ 1 ok iR w9 &Y wenw
1S Ut i J Fras &) Ag R AU & dsd & 99 7} fFIR sifra uehrg ik Wi & fagl I =t
AfTTHT F HRAT I BT T 06T 81 39 $A a9 § e g1-T91 Wik §ian 31 Fias S&1 8 df 7 &
e a1 Riy & fFaR 3R 3a= & qfca 71 Y <t e Eura uga=n anfgel

SR 3 T TR B ugwR R IR ¢ R $T Sk garse|
UR: BIIS BT YF U Y8 W - TS STU R Iad 8 ?
1. P

2. I3

3. Har

1. 70

Correct Answer :-

28) 3(TS1 Yo§ [d § $© W THUD eI UTI I BRI AT SR d st A1 39 o= & arer 1 7 <t para
B P foam o1 Uig 954 8 Ui | wWY & frq| Wy gd famm & w6t @It ¥l 1 1S g, a8 SR femn wv-awe
W} fraa TR X FHdl? TWA-G@d T8 & qTed §d THT O 81 T 3R JURHH I o1 SR & 81 T g9
STHTRT BT JuiH Ha &, Gt o1 quie wa €, STarmmy &1 qufq #3a €1 W Fias 1 vl Hft fph A forar @2
Fas B W ST HIE TRig T8 T, Prag A TR 77eT g1 7, FUS A ) 913 Tl 90 IR R s T3,
Tz farelt ) sreat A8 e SR sefifere Pl & o fansdt &) wergyfa =8t 8t us wa aurd B, fbg



T[T & A a1 gW <@l P Pras § $© FH Al 781 ¢1 Ugd df 95 & Fas &1 JT9gd Yo 81| TP &
Tl W, TR F} Sharel T 3yar IWR R F FIA pUs! & Y g0 99 Pias F S T 7Hg ad 8| S
@ Bt WSt B yeTe gU gt & avanl & forg 9 1 9gd Wi 21 wiel ad 9wy +ff afe 3ud Fas o1, ey
aﬁﬁ%wéﬂmm,aiaﬁaﬁaqmﬁaﬁﬁﬂw-@ﬁaﬁﬁlwa’r,aﬂasmmnﬁ?re’rmm

ST 8|

T8 & PR o9 Plas Y@L SUS ¢HS 8l 91 8, 79 3 fbaa Yax fRwa | el 'Rl A oi@ S bl
WR TSl §, 99 YT T W o g usd g1 7t fpan dial a6 o9 waaa iR fae-n sias ve-ar ben
3T EIT ¢, 99 98 T2 TS HH YA To! 61dT| $H HIds B I8 U $© Y@ o1 TR 36 W T 3R 37
Ble-g8 el ged §, a9 fiF ArgT omt o SeT Y TR 3% Uehug, Ted TR & I 31 @RE gR-g7 95
3ifpd 3@ it IR U1 BRaAT & 9 B 301 84 Bt 21 FhR o9 Frus Wer §@ X o i 319 81 Y, a9
T, 34 U1g, A4, 4g, I s1e & Uehug 39 W 3ifFrd gia § Suat 2T 3R £ 31 ok ey w19 &Y wenw
1S Ut i | Fras &) Ag R AU & dsd & a9 7} fFIR sifra uehig ok Wi & gl I =t
AfRTTHT P HRAT I BT T 06T 81 39 $A a9 § e g1-T91 WiN §iar 31 Fias S@1 8t df 7 &
e a1 Riy & fFaR 3R 3a= & qfca 71 Yt e @ura uga=n anfgel

SR 3 T TR B ugeR R IR ¢ R P Sk garse|
= fha AgH It 3R Fa1 ! e ughig a9 82
1.30F H § PIS oAel

2. T ATGA 3T 3R gam 9

3. A ATge 3T 3R 3T 9

4. Ofg a1ge 3 AR )R I

Correct Answer :-

. AT A 3 AR 3 O

29) 3T YoE Yd # $© W TH¥S g1 UTI T P A 21 IwR | ot A1 39 fa=m d arer @1 7« wama
e T ol wig 9ga & 9IS | wHa ¥ g v gd femm & wret oft it 7 7€ 8, 95 s fmm -
1t fraq TR B APell? I@A-TWd 981 F IIGd 4d TH 9 B ¢ 3R gUhH T BT Y € g Wl gu
S{THTRT BT Ui Ha &, Gt o7 gl Fa €, STarRra) &1 quiq #3d € 1 W Fias &1 v Hf fpdt A forar @2
FIag ¥ W ST PIs UG T¢I HXdl, BIIS A IRK T 1T 3, HUS A 81 911d § 1 U IR W PIOS I,
Tg farelt ) sreat A8 e SR sefifere Fius & o fansht &) wergyfa =8 8t g wa gurd B, fbg
TR & W At g0 & & Pas A $© FH Higd 781 31 Ugd a1 I8 6 Fus I T g YR 31 TP &
T UR, TR Pt IaTdl IR 3UaT IR W & Pt FUS! & I 59 99 Plas & 99 T Ude H3d § | daniy
@ Bt WSt ° yeTe gU gt & aranl & forg 9 1 9gd Wi 81 wiel ad auy off afe 3ud Fas o1, teny
W@m@mm,asﬁaﬁﬁqmﬁam@-@ﬁaﬁil R @, PIgs &1 ¥ ad &1 99 famrs
STeT 3

T F PR o9 Plas TEPT ITP ¢PS 81 94 3, a9 d fban Yox fwa &1 warer Rt | o9 38 gpel &
WK ISl §, 79 WY §¢ TN o ERa Usd 71 7t fPAR diell o o9 wwaa iR fae-1 sias ga-u1 b
M BT 3, 79 98 TX $O $H GEERA T} 51d1| §H PIIS BT Y8 UM $O TE T W SH W T 3R 377
Bic-a8 ueh 9ad §, a9 i TR M 3R a1 iy T I1% ueug, Ued TR & IR Bl @RE R-g3 9F
3ifpd 3@ gl IR YT BRaAT & 9 B 301 84 Bt 21 FFR o9 P Wer g8 o wHiF 319 81 o, a9
T, 39 U8, U4, ¥, I SdIi¢ & Ughis 39 W Sifdhd gid § Su@! =T 3R 81 81 ol fibe 99 & gena
1S Ut Wil I Fras &1 Ag HR AU & dsd & a9 ! fFIR sifera uehrg ok Wi & fagl 3 et
AfTTHT P HRAT T BT T 30614 81 39 $A a@ § e 8- Wik §iar 31 Fias q@1 8t dl 7 &
PR a1 Riy & PR 3R 3 / 9 7 @) ot e v ugaan =g



W A T TegiRr B UgwR Y UD TC U= $T I«R Ja1sC|
wA: g9 fhua-fea 9 &1 avia 3vd 72

1.308% & & PIS Al

2. 3TeRTeT, gt AR Srermer

3. W AT &1

4. ey I @ &

Correct Answer :-

o TN, gl 3R STemT

30) 37T g T4 W $© W TP g1 UTI T HT AR U1 IR A ot 1 39 o= & wrer 37 9 ot pwrer
€ 2 o ol wig 9ga & 9IS & wH ¥ w1 v gd fmm & wret offt it 7 7€ 8, 95 S fmm -
W fam T FX AHd? T@A-3TA 981 & JIed 49 T I 8 ¢ R gUhH 29 31 3Ry & 8 7w
STHTR BT quIF HI §, Jeft &7 gl FRa &, Ta=mal &1 quf Fd &1 W Fras 1 quiq Hot fedt 7 far g2
FIag ¥ W ST $IS WG Tl Xdl, DS A IRK 7T T 3, FUS A g 911d § 1 30 IR W PIS I,
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Topic:- General English(L2GE)

1) Fill in the blanks with the most appropriate preposition in the given sentence.

A learner’s language development infancy three years of age will depend on their exposure to
the language.

1. by, to
2. by, from
3. from, until

4. across, until

Correct Answer :-
e from, until
2) Fill in the blank with the correct option in the given sentence:

After exercising for six hours, she fell down due to exhaust--.

1. ---tion
2. ---sion
3. ---ance
4. ---ing

Correct Answer :-
e —--tion

3) Choose an appropriate modal for the given sentence:

I expected that I get a high score in Maths.
1. can

2. may

3. would

4, should

Correct Answer :-

e would



4) Choose the most appropriate determiner in the given sentence.
officer in the field has a key to the building.

1. Every

2. Many

3. Some

4, Most

Correct Answer :-

5) Choose the appropriate prepositions for the given sentence:

My mother, having her tea, settled a cozy armchair.
1. before, for

2. on, by

3. of, in

4, after, into

Correct Answer :-

o after, into

6) Choose the appropriate conjunction for the given sentence:

My friend did not play well, did I.
1. neither

2. either

3. because

4. only

Correct Answer :-

e neither



7) Choose the appropriate antonym for the highlighted word in the given sentence.

My father entered the room with an agitated look on his face.
1. Amused

2. Pompous

3. Cruel

4, Serene

Correct Answer :-
e Serene

8) Choose the appropriate option that rewrites the given sentence in its active voice.

Suggestions are invited sincerely by me for further improvement of my book.
1. | have sincerely invited suggestions for further improvement of my book.

2. | am sincerely invited suggestions for further improvement of my book.

3. I sincerely invited suggestions for further improvement of my book.

4. | sincerely invite suggestions for further improvement of my book.

Correct Answer :-
| sincerely invite suggestions for further improvement of my book.

9) Choose the appropriate synonym for the highlighted word in the given sentence.

Logging causes a great deal of environmental damage.
1. Cutting down of trees

2. Blocking

3. Making log cabins

4. Flooding

Correct Answer :-

« Cutting down of trees



10) Choose the option that best transforms the sentence into its Indirect form:

He said, “"God is great.”

1. He said that God is being great.
2. He said that God was great.

3. He said that God is great.

4. He says that God is great.

Correct Answer :-
e He said that God is great.

11) Choose the option that best explains the highlighted expression:
This camera of mine has seen better days.

1. is now in poor condition

2. is new and working well

3. was not working well

4. is good and working well

Correct Answer :-

e is now in poor condition

12) Choose the option that best explains the highlighted expression:

To run out of mental alertness is worse than to run out of physical fitness.
1. To have plenty of

2. To be deprived of

3. To be drained of

4. To possess

Correct Answer :-

e To be drained of

13) Choose appropriate articles for the given sentence:



Chief Minister and Prime Minister are attending ___ meeting at 10.00 am.
1. No article required, the, a
2. The, a, no article required
3. The, the, the

4. The, a, the

Correct Answer :-

» The, the, the

14) Read the sentence carefully and choose the option that has an error in it:

I have scarcely no qualms about the rights and wrongs of my doing.
1. I have scarcely no qualms

2. about the rights and wrongs

3. of my doing.

4. No error

Correct Answer :-

» | have scarcely no qualms

15) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and cave
walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers travelled.
Today maps show an assortment and plethora of information. The advent of technology such as
Geographical Information Systems (GIS) allows the collection of spatial data easier. Information
technology has gone through rapid changes, and GIS is one of them. It has helped various
companies and governments institution in their decision making process through real time
interactive maps.

What is cartography?
1. It is a photograph of the earth.

2. It is a drawing of the earth.



3. It is the study of map making.

4. It is a graph of the earth.

Correct Answer :-

e |tis the study of map making.

16) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and cave
walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers travelled.
Today maps show an assortment and plethora of information. The advent of technology such as
Geographical Information Systems (GIS) allows the collection of spatial data easier. Information
technology has gone through rapid changes, and GIS is one of them. It has helped various
companies and governments institution in their decision making process through real time
interactive maps.

How has GIS helped companies in decision making?
1. By providing real time interactive map features

2. By providing an assortment of information

3. By providing artistic maps.

4. By providing digitally printed maps

Correct Answer :-

» By providing real time interactive map features

17) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and cave
walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers travelled.
Today maps show an assortment and plethora of information. The advent of technology such as
Geographical Information Systems (GIS) allows the collection of spatial data easier. Information
technology has gone through rapid changes, and GIS is one of them. It has helped various
companies and governments institution in their decision making process through real time
interactive maps.



In this passage, “clay tablets” mean:
1. Aflat slab of clay

2. A capsule made of clay

3. A floor made of clay

4. A small portable computer

Correct Answer :-

« Aflat slab of clay

18) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and cave
walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers travelled.
Today maps show an assortment and plethora of information. The advent of technology such as
Geographical Information Systems (GIS) allows the collection of spatial data easier. Information
technology has gone through rapid changes, and GIS is one of them. It has helped various
companies and governments institution in their decision making process through real time
interactive maps.

Find the synonym of the word Plethora.
1. Abundance

2. Variable

3. Understandable

4. Legible

Correct Answer :-

e Abundance

19) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick



The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

Where was the speaker after he fell sick?
1. At the park

2. At school

3. In the garden

4, At home

Correct Answer :-

e Athome

20) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said



But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

Who said, "Shoo...get out of here”
1. Child

2. Teacher

3. Mother

4. Baby

Correct Answer :-

e Mother

21) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

What is the literary device used by the speaker in this line:
On my hassled, hapless mother.
1. Alliteration

2. Metaphor



3. Simile

4. Onomatopoeia

Correct Answer :-

o Alliteration

22) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

The speaker got sick because of .
1. germs

2. the sun

3. over eating

4, dust

Correct Answer :-

23) Choose the right tag:



They were late as usual, ?
1. did they

2. didn't they

3. weren't they

4. were they

Correct Answer :-

* weren't they

24) Choose the option that substitutes the given phrase appropriately.

A doctor who specializes in the treatment of children
1. Obstetrician

2. Entomologist

3. Pediatrician

4. Gemologist

Correct Answer :-

e Pediatrician

25) Choose the correct word to complete the given sentence.

My brother and __ are going to spend _____ vacation at a seaside resort.
1. they, theirs

2. he, his

3. me, its

4.1, our

Correct Answer :-

26) Choose the appropriate tenses to fill in the blanks in the given sentence:



Every day, thedog _ at the gate and the gatekeeper___ him.
1. wait, feed

2. waits, feeds

3. has waited, feeds

4. is waiting, is fed

Correct Answer :-

o waits, feeds

27) Choose the most suitable option to express the meaning of the sentences combined together.

The wind blew. The lightning splashed. The rain started falling.
1. The wind blew, the lightning splashed but the rain started falling.

2. The wind blew, the lightning splashed while the rain started falling.
3. The wind blew, the lightning splashed when the rain started falling.

4. The wind blew, the lightning splashed and the rain started falling.

Correct Answer :-

e The wind blew, the lightning splashed and the rain started falling.

28) Fill in the blank with the correct option in the given sentence:

An organization wants of its employees.
1. loyal

2. loyalty
3. loyally

4, lawfulness

Correct Answer :-

29) Fill in the blank with the correct option in the given sentence.



My father’s computer is five years old and it needs to be --graded.
1. super-

2. up--

3. down-

4, de--

Correct Answer :-

30) Change the given statement to indirect speech.
She asked, “"Do you go to school every day?”

1. She asked me that if [ went to school every day.

2. She asked me if [ went to school every day.

3. She asked that if I go to school every day.

4. She asked that do you go to school every day.

Correct Answer :-

» She asked me if I went to school every day.
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